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IPv6 AA B SHMX| FAQ ZHZt O &S /1282 AFE 35104 IPv6 ACL 7+43:

ipv6 access-list PREFIX_ALL_ZERO
10 remark ** HOST MASK **

11 deny ipv6 any host :: log

12 deny ipv6 host :: any log

00| ot IPv6 CHet =42 PING(TZ! QB L= HERZ 7H D2 1) EBfE MS:

RP/0/RPO/CPUOQ:router#ping fd00:4860:1:1::150 count 100 timeout O

Thu Sep 14 12:30:23.412 UTC

pings with timeout=0 may result in system instability and

control protocol flaps resulting in traffic impact.

Do you really want to continue[confirm with only 'y' or 'n'] [y/n] :y

Type escape sequence to abort.

Sending 100, 100-byte ICMP Echos to FD00:4860:1:1::150, timeout is 0 seconds:

Success rate is 0 percent (0/100)
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RP/0/RPO/CPUO:router#show access-listsipv6 PREFIX_ALL ZERO hardware ingress ¢



Thu Sep 14 12:30:46.346 UTC

ipv6 access-list PREFIX_ALL_ZERO

11 deny ipv6 any host :: log (100 matches)
12 deny ipv6 host :: any log

ACE 112 N7H& [ ACE 122 EZ0| 0|5 &fLC}.

RP/O/RPO/CPUO:router#clear access-list ipv6 PREFIX_ALL_ZERO hardware ingress location 0/RPO/CPUO
Thu Sep 14 12:31:34.899 UTC

RP/O/RPO/CPUQ:router#ping fd00:4860:1:1::150 count 100 timeout O

Thu Sep 14 12:31:39.482 UTC

pings with timeout=0 may result in system instability and

control protocol flaps resulting in traffic impact.

Do you really want to continue[confirm with only 'y' or 'n] [y/n] 1y

Type escape sequence to abort.

Sending 100, 100-byte ICMP Echos to FD00:4860:1:1::150, timeout is 0 seconds:

Successrate is 0 percent (0/100)

RP/0O/RPO/CPUO:router#show access-listsipv6 PREFIX_ALL_ZERO hardware ingress |ocation 0/RPO/CPUQO
Thu Sep 14 12:31:45.229 UTC

ipv6 access-list PREFIX_ALL_ZERO

12 deny ipv6 host :: any log (100 matches)
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